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Here is another problem. 72 — 38 = 72
— 38

There are many ways to solve this problem.

Some children show 72 stickers. Then they remove
or cross out 38 of them, and count how many are left.

Amaya drew 72 stickers. Carla used the 100 chart.
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To cross out 38, she had to +10
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She counted how many were left.
“10, 20, 30, and 4 more is 34.” 12 - 38 = 34
Henry thought: You can Roshaun drew 72 stickers, crossed out
break 72 into | 38, and counted how many were left.
40 + 30 + 2. 10 20 30 34
If you take the 3&
away from the 40, Y
there’s 2 left.
2+ 30 + 2= 34. 6
W
10 20 30 37 38
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Other children subtract 38 from 72 in parts.

Tia used the 100 chart. She started Talalalslelslslo 0
at 72 and counted back 38. She
subtracted 2 first, then 30, then é more. JUN P Y O D iy D
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Melissa used the same strategy as Tia, but she used the
number line to subtract in parts. She subtracted 2 first,
then 30, then 6 more.

-6 -30 -2
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70 - 30 = %0 @ 1o 0 79

0 - 6 = 34

Alberto broke 38 into 30 and 8. First he subtracted the 30.
Then he subtracted the 8.

79 - 30 = 49
¥ _ 8 - 34
79 - 38 = 3%
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Solve 72 — 38, other children think, “38 + ___ = 72" They
think about how much they have to add to 38 to get to 72.

Anita used the 100 chart 1 l2lslulslel7ls]o]|0
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Henry kept adding 10 until he got close to 72.

30 ) o 30+2+2=34
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